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PART—A: GENERAL AWARENESS

S

F i

3¢ Total internal reflection cannot take 1,

2,

place when light goes from

(A) glassto water
(B) water to glass

(C) watertoair

(D) glass to air

” Asbestos is formed of

(A) Calcium and Magnesium
(B) Copper, Zinc and Manganese
(C) Leadandlron

(D) Calcium and Zinc

al

d "_?3/’ A passenger standing in a bus is thrown

4/

outward when the bus takes a sudden
turn. This happens due to

(A) outward pull on him
(B) inertia of motion
(C) change in momentum

(D) change in acceleration

Electric current in a metal wire is due to
the flow of

(A)  Electrons

(B) Protons

(C) lons

(D) Holes

HIRT T AT Il o
(A) @i & Stel & 3N
(B) Ster & e Hr 3N
(0 o & ary #r 3R
(D) =i & arg & 3R

TEIECH HT AT g g
(A)  FiRme 3t FAvafRmea
(B) arar, SiEar 3R Ao
(C) drr 3R <er

(D) o 3R o

59 §H IS Hqsal § oo 99 H @Ir
I ST f 3R PR Srar g1 e g
FRUT gIT &:

(A) 3§ W TR WEE

(B) =iz

(C) wreies & IRad=

(D) cawor & gREda

g % aR # fegd URT BRE wa
¥ g &7

(A) ol

(B) et

(C) 3ma=

(D) f&
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5. / In which one of the following regions

does the Indus River ofiginate?

(A) Ladakh
(B) Lahul
(C) Nepal

- (D) Tibet

6./ Which one of the following: places is
famous for production of railway
coaches?

(A) Nasik
(B) Kapurthala
(C) Koikata

(D) Bhubaneshwar

1. 4 The term ‘Operation Flood’ is associated
~”  with

(A) Blue Revolution
(B) Golden Revolution
(C)  White Revolution

(D) Yellow Revolution

8. /" Which is the only Union Territory to
- " have a High Court of its own?

(A) Chandigarh

(B) Delhi

(C) Andaman & Nicobar

(D) Lakshadweep

5.

Prarae & & e e Ry
T SEIH FIeT &7
(A) wErE

(C) eprctehTaT
(D)  sfa=iRa’
ifaYerT FolE Uee [hed HEEd 87

(A) el sifa
(B) wafo1H wifd

(C) <da wifd

(D) drelr il

CEATE S QTR WSy forEeT e
Fed FOMETed §

(A) ST

(B) feeell

(C) 3izAE 3N HHER

(D) wared™
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Part-A: General Awareness HTIT &h: HIHATTT ST
2 “Which one of the following is not a basic 9; TERT 7§ & dladr s arag
feature of the Indian Constitution? e &

(A) Presidential government (A)  JEERTe T9ade
(B) Federal government (B) @HT §iFR
(C) Parliamentary government (C) & &R
(D) None of these (D) =17 & FIS FTGT
10. ~Plants are green because of the 10. frg vl fT 39T & sror gl
presence of a pigment called 2 A ¥
(A)  Glucose (A) 3?43-.13
(B)  Nitrogen (B) =ggtere
(C)  Chlorophyll (C) FaRITrer
(D)  Oxygen (D)  siferdieT=
: i :
| yISRO stands for 11.  ISRO &I fawala &7 &:

(A) International Scientific Research

Organization

(B) Indian Science Research
Organization

(C) Indian Space Research
Organization

(D) International Space Research

~ Organization

(A) IR AwifAs  ETEuE
TS

(B) HRA Tl JqaeTel Haree

(C) s 3afer HTHT HIToT

(D)  3eRISERT 3iANET IeTHE HaraeT




the services of labour, land or capital in
a country is called
(A) gross domestic product

(B) national income
(C) gross domestic income

(D) . gross national income

Part-A; General Awareness ANO7CGLT2023 19T &: AT ST AT
12¢ Japan Parliament is known as 12. 9T &7 €GeSl gl Sl &
(A) Diet (A) =T
(B) Dail (B) e
(C) Yuan (C) g3
(D) Shora (D) emr
13~ Who was the architect of Taj Mahal? 13.  Qrel #Agel T AP HleT AT?
“(A) Ustad Ahmad Lahouri (A)  3EaE 3EHE AR |
(B) Norman Foster (B) +THT B
(C) Henry Irwin (C) gl iaat
(D)  Shah Jahan (D) emgeTET
14. /Indonesia was a colony of which of the 14. gE&ATRAT TR & @ Fa g &
following countries? sufeder ar -
(A) Spain (A) T
(B) Dutch (B) ==
(C) Portugal (C)  geme
(D) Belgium (D) sfeoramd
;&J.-'Which of the following is paired |15 Srfafaa § @ Fia @ Toad alE a
~  incorrectly? ST TR &
(A) Pannalal Ghosh — Flute (A) YestTeliel GIV - a'm;‘-[‘r
(B)  Guru Gopi Krishna — Kathak (B) TE T T - AR
(C)  Nikhil Banerjee — Santoor () M=fEa aTﬂEﬁ' - "
(D) Nandalal Bose - Painting (D) sAgaTe a1 - TSR
" 16. The sum total of incomes received for 16. &, oA A gen $r qat F T

wmﬂ@mmﬁz

(A) TEHd B 1S
(B) & 3

=

(C) dFheT e A

o

(D) eher TSET HHTS
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T & WA STRTwReell

17 Which treaty was signed on 28 June
1919?
(A) Vienna
(B) Geneve
(C) Versailles

(D) - Pearl harbour

: 1v8/WaIIace Smith Broecker is the man who
 coined and popularized which term?
(A) Post truth
(B) Green revolution
(C) Global warming

(D) Sustainable development

19. ';‘;.:“T}’thich one of the following divides India
" into Northern and Southern parts?
(A) Equator
(B) Tropic of Cancer
(C) . Tropic of Capricorn

(D)  Arctic Circle

20. AWhich one of the following countries
~ shares longest border with India?
(A) China
(B) Bangladesh
(C) Nepal

(D) Pakistan

17:

18.

19,

20.

28 ST 1919 & fhg A W gFaEr

. R R A2

(A)
(B) Forar
©)
(D) wef g

arere e S R ereg &1 3ifehdt
3R el s '
(A) dFe g7

(B) - afieT Y@TerereTt

(C)  aohaer arfefar

(D) @E=Ae SoeradiT

AR W s AR emoh swi W
faemfora siar §

(A)  smew @r

(B) & Y@ .

(C) @t x@r & Fourehicaeiy &
(D)  3mehfeer docl

fafaf@a & @ @l ar & R &
(A) =T

(B) wiwemdyr

(€)  SAurer

(D) urferEcret
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21. / Peroxyacetyl nitrate is a _ 21.  RFETfeEd dgee Th
(A) acidic dye (A)  31FeT 3B

(B) secondary pollutant (B) gfadae Seuesh

(C) plant hormone (C) ureq gl

(D)  vitamin : (D) fererf@sT

92 -Members of the Union Public Service 22.  Fg oF dar AN ¥ AT #r

Commission are appointed by the S frad A £ S 2
(A) President (A)  Irsgafd

(B): Prime Minister (B) gereAHAT

(C)  Chief Justice (C) = SIfecH

(D) Law Minister (D)  aTefeT FAT

23.° The total energy of an electron inside an 23. TS YA & 3eL Uah sﬁ@uﬂ $r ol
2

atom is T gl &
(A) zero : (A) =T
(B) more than zero (B) <@ @ of 3OS
(C) less than zero C) =T o it FA
(D) Infinite : (D) 3m=d

24, A perfectly competitive market has 24. UH tl‘\U‘fa': ghereaedf areR 7 Hieg T
(A) only one seller (A) Faer Tw fashar
(B) atleast a few sellers _ (B) &F & HH TS faghar
(C) many buyers and sellers € =% @ler AR sk
(D) firms that set their own prices (D) ¥ @uferat st U P T

‘ freifa @i 8
25. In a recession, GDP 25.  FHEY #, Shemn:
~’ g (A) Grows negatively (A) FTHERIcHS T y dedr &

(B) Grows slowly (B) efy-¢fY d&dT &
(C) Grows rapidly : (C) A & JoaT &
(D) None of these (D) =T ¥ HS T
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26, “The method of impeachment of the |[26. #Rg & veufy W AGHAT T A

President of India is adopted from FaEl T TS TS?
(A) USA (A)  3rATmEAT

(B) UK ) e

(© USSR (C) wifega |9

(D) - France : : (D) wrE

27. Who among the following was not a 27. =g § 8 =i sf.né' 1946 H

member of the Constituent Assembly T AR GHT T GeET AET An
established in July 19467 |

(A)  Dr:Rajendra Prasad (A) 31 Teig wag

(B) K. M. Munshi (B) &.wa. #HM

(C)  Mahatma Gandhi (C) FgrcAT amedy

(D)  Abul Kalam Azad (D) 31T eI TSI

28. Where was the ‘Azad Hind Fauj’ 28. oG fgeg Wier fT wUAT FEl g‘é‘

founded? i

(A) Thailand (A)  orsds
(B) Britain : (B) foosr
© taly | © s
(D) Singapore (D) fHemaX

29. The Seven Pagodas of Mahabalipuram | 29. HEWOYA & | gaiisT fohass ganr

" are witnesses to the art patronized by B Fe & g
(A)  Pallavas (A)  Toora
(B) Pandyas (8) ggar
(C) Cholas (C) =ema
(D) Cheras (D) <=Rm&
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STTT h: WA SIITRR T

3_0':'f

31,

32/

33/
~_

_—

i

When the barometer reéding dips
suddenly, it is an indication of

(A)  hot weather

(B) calm wea;ther

(C) Storm

(D) dry weather

Ice is packed in saw dust because

(A) saw dust will not get melted easily

(B) saw dust is poor conductor of
heat :

(C) saw dust is a good conductor of
heat

(D) saw dust does not stick to the ice

Who is first to introduce the concept of
Cold War, coining the term
"Stereotype”?

(A) Attlee

(B) Paul Kennedy

(C) Walter Lippmann
(D)

Thomas Friedmann

Who is author of the book ’ThelPolitics
of Extremism in South Asia’?

(A)  Shashi Tharoor

(B) Kushwant Singh

(C) Nirupama Rao

(D) Deepa M. Ollapally

Which is the India’s first newspaper?

(A) Hindustan Times
(B) Indian Express
(C) Deepika

(D) Bengal Gazette

31.

32.

33

34.

30, g SOFeT & OfFw smed wA el

ST &, dr " Tahd o

(A) e FHEH

(B) erfa HtwH
(C) 3l

(D) ook AHH

g% ® G 7 suiae 4 R S
¢ FitR

(A)  arET A & el e

(B) aTET FSHAT &1 R Gl ©

(C) wmmmw%'

(D) waﬁsmﬁuﬂa‘@i%‘

EAREeTET" A H TR A gU
M g Y FAUNOT P eI FEA
arer ugel eafaa w47

(A) Tl

(B) dfer chetsT

(C) droex AR

(D) oifFw sHIsHeT

= ufafeew 36 wwEAAESH
a5 oA qEaw & AWH Fie 67
(A)  oflr T '

(B) erda fHE

(C) %At Td

(D) &T wH. Fedaee

m_ﬂmmﬂﬁmwﬁ?

(A)  fEgedmnT Tsae
(B) Sfzue wawyd
(C) &t

(D) qeTrer ITSIT

10
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HIT & HIATT SiETHh T

35. What is the pH of pure water? 35.  o/g 1ol &M pH A1 foheia glar 872
(A)- 1 (AL
(B) 7 B) 7
{C). -3 (C}ih
(D) 12 (D) 12
36. Which one of the following is not |36. frfaf@a & & selea ar#FT & fav
s’ responsible for the global warming? R 48
(A) Carbon dioxide (A} ehreeT SIS3iTFATSS
(B) Methane (B) == '
(C) CFCs (C) wruwmar
(D) Slacked Lime (D) eriEees <=
37“:»,.-"Th.e velocity of sound in moist air is | 37. & gar F eafer @0 o e - gl &r
more than in dry air because the moist e F 3 AT  Fiife e g
air has J ;
ﬁ. ]
~ (A) less pressure than dry air (A) Q};ﬁ? gar &r GEEl H & gdra
(B) more density than dry air (B) e gar H @FIHT A Ow
| Helcd ‘
(C)  more pressure than dry air (C) o= gar @ @?WHT H 3% gaa
(D) less density than dry air (D)  erseh gar T JeletT H HH Hecd
38.. The term brown air is used for 38. HI3+T UIT g T GAI9T fhash foiw
(A) industrial smog (A)  3irefR FHfT
(B) sulfureous smog (B) HFLH THT
(C) acid fumes (C) ufds epi
(D) photochemical smog (D) I AF TALT
54 11
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SITeT Fr: GTATT STETRehl

2387 y\r!ho among the following was not a

40,

. Which

member of the Drafting Committee of
Indian Constitution?
(A) B.R. Ambedkar

(B)  Alladi Krishnaswamy
(C) Rajendra Prasad

(D) Gopalaswamy Ayyangar

was described by
Dr. B. R. Ambedkar as the ‘heart and
soul’ of the Constitution?

(A) Right to Equality

_(B) Right Against Exploitation

(C) Right to Constitutional Remedies

(D) Right to Freedom of Religion

/" Who appoints Secretary General of the

Lok Sabha?

(A) Deputy Speaker
(B) Speaker
(C) President

(D) Leader of Ruling Party

/" The Government of India Act, 1935 was

based on

(A) Simon Commission
(B) Lord Curzon Commission
(C) Dimitrov Thesis

(D) Lord Clive's report

39.

40.

41.

42.

TrafRd F ¥ 9 aRdg Gy
€ ITEIT AT T TEET A6 AT

(A) &3 FHdgHT
(B)  37eeldl SHSuReTHT

(D)  IrUTerEaTHT 3TTIIR

3 Sr3R. ege o R dfdene @
'z 3R 3TcAT JarT Aqr?

(A)  FHATAAT T RN

(B) efwor & faeg TR

(C) wdtnfaes 3TTRT &1 AWHR
(D) erf hr TacHar HT ATEHR

SrREsT & e & FYgRd ®iT
HLAT &7
(A) 3ureget

(B) aereTr

- (C)  qrsgufar

(D) e o ¥ A

YRE GIRR RfETH, 1935 g W

(A)  |TSHA FAIAA

(B) TS Shotel T

(C) T ffew )
(D) @S Famza & RO

12
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AT h: ATATT AR AT

437 Clothes keep us warm in winter because 43. HUz gH eI H 7 Wa § Fife
they ' o
(A)  supply heat (A)  arelf & 3mafe
(B) do not radiate heat (B) . a8 Fahot = &t
(C)  prevent air from contacting the (C) gar & RN & d@9h & 3= &

body I
(D) prevent the heat of the body frbm (D) elfx &1 AT Fr TET FAFpew T
escaping UF

44. Tesla is a unit of magnetic - 44.  TTOm YT HI TH FHS B
(A)  Flux (A)  worFd
(B) Induction (B) sz
(C)  Moment (C) #iFe
(D) Field (D) tFre=

4;5 The splitting of white light into its |45. 93d YFHIT FT 3TF UTH I [FT=TT

' components is due to ; ¥ FROT BT 32
(A) Reflection (A)  YopelereeT
(B) Dispersion (B) R
(C) Refraction (C) YT
(D) Transmission (D) ot

\ 46~ Which of the following metals is used |46. FF=faf@a & ¥ R T T ST
for the manufacture of heating ﬁaa?rw ET'T‘T& F ISy 99 gt ¥
elements provided in electric iron? i

AT F e Far Srar 872

(A) Nickel (A)  TreRer
(B) Chromium (B) wmifaTs
(C)  Nichrome (C) e
(D) Tungsten (D) Eareea

o 13
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47.

48,

49/

50.

A person to be qualified for standing in a
Panchayat election must have attained

the age of

(A) 21lyears
(B) 18years
(C) 25years
(D)~ 30years

Cattles are capable of digesting cellulose
present in the grass and / or fodder that
they eat. This ability is attribute to the

(A) presence of cellulose digesting
| bacteria in the rumen

(8) production of cellulose by the
rumen
(C) acids present in the rumen

(D) prolonged retention of cellulose in
the rumen

Which of the following has the most
penetrating power?

(A) o-particles

(B) B-particles

(C)  y-particles

(D) All of the above

The blackboard seemﬁ black because it
(A) reflects every colour

(B) does not reflect any colour

(C) absorbs black colour

(D) reflects black colour

47.

48.

49.

50.

Wwﬁmmﬁﬁvm
wﬁa@rmﬁﬁ?ﬁaﬁ?ﬁm‘%@

(A) 21 a¥
(B) 18 a¥
(C) 25 a¥
(D) 30 a¥

FAel U d@’ WU e dlel T
siar o #F Helg Aegarer H THR

& gerH g1 §1 g &THCT

(A) s & Hegds qae are
GhaTugﬁaﬁrsqﬁzr%
(B) & @R Yegailsl I FcaIGe

(C) A= & #Higg s
(D) = & Jegellsr T o9 HAT
GEACEIRGLI

Srfafaa & ¥ fradr e afed
ad 31feF 82

(A)  a-aoll

(B) p-smUT

(C)  y-=oT

(D) IRierd T

SYeas safeT Her @S & §

(A) &0 7 A WEfdd Tl §

(B) frdr off T @ WEfdd
LT

Q) = T A W o ¥

(D) @ T A wEdd ¥

14
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HIT @: WA iy 3T aF

ﬂma:mmwg%aﬂta%

PART—B: GENERAL INTELLIGENCE AND REASONING

51,7

g

:An official meeting is attended by 130
department employees. Of them, 66

-~ drink tea, 56 drink coffee and 63 drink

juice, 27 can drink either tea or coffee,
25 can drink coffee or juice and 23 can
drink juice and tea. 5 employees can
drink any of the three. How many
persons drink only tea?

(Ay 21
(B)-. 22
(C} 18
(D) 20

S

'

'5{2.,..*’”) P, Q, R and S are four friends. P is

shorter than Q but taller than R who is
shorter than S. Who is:the shortest

among all?
(A} P
(B) Q
(C) R
(D) S

" Eight people A, B, C, D, E, F, G and H are

placed as shown in the diagram. All are
facing in the outward direction. If all of

them move anticlockwise to three

places, then

(A) Bis facing West

(B) Eis facing East

(C) His facing North-West
(D) Aiis facing South

51.

52

58L

U&h e §6h H [AHET &
130 wF=rr #ET dd g 3EH F@
66 Trr 9 ¥ 56 & fid & 3R
63 S d §, 27 W™ AT HIHT A
Thd § 25 FE AT @ N FEA §

3R 23 S AR A @ E@Ed g

5 daail diel #H & $w o & Fhd
Tl foraey et shael @ g Wi &7

(A) 21
(B) 22
{C)  -18
(D) 20

P,QR3RSaw@T& P, QA
ATer § ofthe R & a7 § &l S ¥ &rer
g Tt F e AT HT 82

(A) '
(B)
(C)
(D)

VWO

B & REw e 3 «Er A, B,
C, D, E, F, G 3R H @ T@r = gl
el e A AN gEAw Bl Ife 9 wel
aATa e 7 e T W) ogA

(A) B & #@ qiREH & IR §

() E 4d faem & wrAw@ &

(C) H & AW SccR-9iR=H A IR §
(D) A &1 7@ gfEror 1 IR &

15
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55. /

A taxi driver commenced his journey
from a point and drove 10 km towards
north and turned to his left and drove
another 5 km. After waiting to meet a
friend here, he turned to his right and
continued Vto drive another 10 km. He
has covered a distance of 25 km so far,

but in which direction would he be

now?

(A) North
(B) East
(C) South
(D) West

Today is Varun’'s birthday. One year
from today he will be twice as old as he
was 12 years ago. How old is Varun

today?

(A) 20vyears
(B) 2% years
(C) 25years

(D) 27 years

54.

55.

T Sl Ao A UH fhg W el
w&gaa?rammmwaﬁr}m
amaﬂtaﬁﬁméamgmsﬁﬁr
3R Tem ¥E wh and @ fAes &
SAeR & & 916, g6 U alfeell
#R 7z amr R 10 Rl AR =
7| 9g 39 s 25 AT B gl 9=
aﬂgw%,ammagﬁm%mﬁ
LR

(A) 3R

®)

(C) afgyor

(D) ofgaH

T G H SARGE . ST § T
¥ @ S g 12 T TEe A 3
ﬁaﬂﬁrﬁa@?ﬁlmmaﬁrm
forctetr 87
(A) 20 a¥
® 22 a%
(C) 25ay
(D) 27 &y

16




Part-B: General Intelligence
and Reasoning

ANO7CGLT2023

T T TR gy 3 a

56. If in‘ a code, MIND becomes KGLB and 56. gfg MIND fFdr i & KGLB &
ARGUE becomes YPESC, then what will & 3 ARGUE frdll @5 &
DIAGRAM be in that code? .
YPESC &« ST § , d 39 &5 &
DIAGRAM o1 §IAMM?

(A) BGYEPYK (A) BGYEPYK

(B) BGYPYEK (B) BGYPYEK

(C) GLPEYKGB (C)  GLPEYKGB

(D)  LKBGYPK (D)  LKBGYPK

57, If 'eraser' is called 'box', 'box' is called 57. afg 'sieR' 1 ‘S| @ET ST E,
pencil’, 'pencil' is called 'sharpener' and o @ SR P o ¥ e
'sharpener' is called 'bag', what will a

el & 'AMAT FHET ST & AR "I HY

child write with?
‘ST wET ST g, O §Tar RREw
forgem?

(A)  Eraser (A) =

(B) Box (B) drow

(C)  Pencil @ 9

(D) Sharpener (D)  emfex

58, " If DEER = 12215 and HIGH = 5645, how |58. 3Ife DEER = 12215 3R HIGH =

. :
will you code HEELS 5645 &, & 31T HEEL & &8 #ifed

HLN?
(A) 2328 (A) 2328
(B) 3449 (B) 3449
(C) 4337 (C) 4337
(D) 5229 (D) 5229
Y 17
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In questions no. 59 to 61, a series is given, with one term missing. Choose the correct alternative
from the given ones that will complete the series:

Yo FEAT # 59 § 61 a, TH @en & IS §, mﬁwqam%lﬁmmﬁam’rﬁ#ag
g AFeT gl ST @ FT U FM:

59./  SHG, RIF, QJE, PKD, ? 59.  SHG, RIF, QIE, PKD, ?
(A)  NME - (A)  NME
(8) NLB () NLB
(C) OLE (C OLE
(D) oLC ' (D) oLC
60/ 7,818,572, 1165 | 60. 7,818,577, 1165
NIV (A) 174
(8) 232 (B 232
(C) 224 i R (€ 224
(D) 228 (D) 228
67,  1,0,3,2,56,2,12,9,20 61. 1,0,3,2,5,6,712,9,20
" (A) 9 1yl B
(B) 10. ' (8) 10
© 7 © 7
(D) 8 _ (D) 8

In questions no. 62 to 66, select the related word/letters/number from the given alternaﬁves:
o TEaT A 62 ¥ 66 I, BT AU Rwent F & HalOd AS/ERITET 1 GhTA B

62/ 720:840::60:7? 62. 720:840::60:?
(A) 76 B (A 76
(B) 80 (8) 80
(c) 70 () 70
(D) 74 (D) 74
63. 225:256;: 2897 63. 925 : 256 : : 289 : ?
(A) 234 ; (A) 234
(B8) 361 (8) 361
(©) 324 (C) 324
/ (D) 432 . (D) 432
64 Money : Misappropriation : : Writing : ? 64. €T : BUHY : : TG ?
(A) Deception (A) e : a
(B) Mistake (B)  arercr |
(C) Plagiarism (C) afefcas @Y |

(D) Theft (D) =l

18 : <
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65.  YTOJ:XSNI::WRMH:? 65.  YTOJI:XSNI:: WRMH: ?
(A) VLG (A)  VaLG
(B) TOJE |  (B) TOIE
(C) RMHC = ' () RMHC
(D) UPKF (D)  UPKF
66.  EIGK:EACY::RVTY:? | 66.  EIGK:EACY::RVTY:?
(A) RVSQ (A) RVSQ
(8) RNPL (B) RNPL
(C) RWUY (C)  RWUY
(D) RMPL (D) RMPL

Question no. 67 to 70. Study the given diagram carefully and answer the questions where
rectangle stands for business man, square stands for hard working, triangle represents artist and
circle represents singer.

yeeT WEAT. 67 ¥ 70. BT AT ING FT LAAGEF HeATA FX 3T weaAl F Iee” & Sl HAG F
379 sgaErRh safRd ¥, o @ e ) Aged S ¥, BEr suwr &1 vl w5t g ok
e TE F afafafte wwar g : '

o 2 X -
8. N
9
67. ~ What is the number of hardworking |67. & FAgadl caa@TAdT l THEAT fhdar
“ businessmen who are artist but not & o FAER A ¥ ARk T A8
singer? : '
(A 12 " (A) 12
(B) 8 ~ ‘ (B) 8
c 7 (€) 7
(D) 9 (B} -4
687 How many singers are hard workers but | 68.  fhdey MU Heldl § olfched HelldR
not artist and businessman? 3 cxaarl 78 #2
(A) 6 (A) 6
(B) 4 - (B) 4
() 8 () 8 '
(D) None of these (D)  gemal & HIg Er
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69. What is the sum of the numbers which 69. 37 TEATIT T AT FAT § SN hadl
represent only businessman and only saaaTr 3R Fad IE # gt 82
singer? '

(A) 13 (A) 13

(B} 12 (B) 12

(C) 16 (C) 16

AD) 14 (D) 14

/ ;
70._/{ How many persons have all the four? 70. oy afFdal & 99 ¥ IR 82

AARE e (A) 12
(B) 9 (B)i .9
{C}- 2 (€)=222
(D) 4 (D) 4

b A watch which gains uniformly, is 71. U§ U ST AR T A el T,
2 minute slow at noon on Monday and TFER FF A9ET F 2 e e g
4 minute 48 second fast at 2:00 p.m. on s _
the following Monday. What time it ¢ IR ; “_E[E"[ T QIIEY 2:00 S
ways correct? 4 AT 48 Yz A gian ¢l I8 R

THT TE AOF T TAT 57
(A)  2:00 p.m. on Tuesday (A)  FHIrerdR araeX 2:00 TS
(B}  2:00 p.m. on Wednesday (B) gerar geX 2:00 ol
(C)  3:00 p.m. on Thursday (C)  9ear 2rIgY 3:00 CE
(D)  1:00 p.m. on Friday (D)  gehary a9eT 1:00 &9t
72 How many times do the hands of a clock 72, ws A #H Ui Hr A IIRCTGINGIES
: point towards each other in a day? GO E;H‘t $T 3 SART T &2
(A): - 12 : (A) 12
(B) 20 (8) 20
(e} 92 () = 22
(D) 24 | (D) 24

73. A monkey climbs 30 feet at the |73. U&H eI gk "o @Y e H

Rl Ll e el AR R
while w e slips bac re
he again starts climbing in the beginning ReaT §, fiRT 20 Bie e
of the next hour. If he begins his ascent ¥ 3R 3w " R RAT 7R
at 8:00 a.m., at what time will he first TGl YE W &ar g1 3 98 a8
t{:gﬁ:d? flag at 120 feet from the 8:00 §I 3T TS E T & ar
. ; 3 TEY Ugd Sl ¥ 120 wie &

Fag W uad i3 @ fhE @Eg
BT?
(A)  4:00 p.m. (A)  4:00 qatea
(B) 5:00 p.m. (B) 5:00 gaTes
(C) 6:00 p.m. (©)  6:00 gdEa
(D) None of these (D) g A HIS Aol
20 4
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747" - Select the missing number from the 74. U 9C Ica’i H #H ofeet HEAT T
given responses. ey
11\(77 21\K87 4Y
88 108 148
(A) .97 (A) 97
(B) 107 (B) 107
(). 189 (C) 189
(D) 67 (D) 67
75. 5, "'Cbmplete the series: 75.  H@er @ H
81, 69, 58,48, 39, ... 81. 69, 58, 48, 39, ..
(A) 7 (A) .7
(B) 10 (B) 10
(€} 22 (€ 22
(DY - 81" (D) 31
76. Write the next number in the series: 76.  H@eT H 3Tell e ol
2:5:8,89.8, 15; 2 5 4,9, 8,15, ...
(A) 14 (A) 14
(B) 27 (B) 27
(C) 81 () 81
(D) 36 (D) 36
S 21
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71,

79

78,

"If 'orange' is called 'butter', 'butter' is

called 'soap’, 'soap' is called 'ink', 'ink' is
called 'honey' and 'honey' is called
'orange’, which of the following is used
for washing clothes?

(A) Honey

(B) Ink

(C) Butter

AD) Orange

Study the - diagram given below and
identify the region representing girls
who are employed but unmarried.

Employed

7.

78.

I ARG @ AT $El Sl g,
‘AFE T WA hgl ST §, W
T FATEr FHEl SNl o, FAR" Hl 'AEE

gl SiaT & 3R '9EE &I 'FRE FeEr

ST €, df Featarad & F @l o1 g
FUg Gl & folw 39T fhar Srdr §7?
(A) g '

(B)  wmer

(C)  HFw@sT

(D)  &ARAM

HRr Ru aw R @ 3 &3

39 osfral &1 ufdfafica = darel
& I UgIT HY S PRI g olfehe]

srfaarfea €1

Gy

v Unmarried

(A) 1
(B) 2
() 4
(D) 5

Four forms of a dice are shown below
In this dice which digit will be on the
surface opposite to the digit 4?

79.

(A) 1

(B} . 2:

(C) 4
(b 5

T I8 & UR &9 & @ gl
H I A 3H 4 F Al ddE W
m‘rﬂmma‘mw

(ii)

(A) 1
(B) 2
() 3
(D) 5

The Minute hand of a clock is in
North-East at 4:30. Then in - which
direction the hour hand will be at 10:30?

(A)  South
(B) North-West
(C) West

(D) North-East

(11:)

80.

(w)
(A} -1
(B) 2
c 3
(D) 5

wF Tl & Ade fT gE 430 &9
Jeak-qd 7 g g1 ar T 10:30 s
aiaﬁra‘s'm:rmrrﬁa?ﬁ‘?

(A) - eﬁw

(B)  Icax-ufdas

() gfRE#w

(D) FecR-gd

22
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Question no. 81 to 83. In each of the questions below are given three statements followed by
three conclusions numbered |, Il and Ill. You have to take the given statements to be true even if

they seem to be at variance from the commonly known facts. Read all the conclusions and then
decide which of the given conclusions logically follows from the given statements disregarding
commonly known facts. :

w9 HEAT. 81 ¥ 83. Y Rw wv wldw wed & fiw syt kv 3@&F a |, 1l 3ilv W sATT
e favwd Be av & | Fram e 7w Fyel F weq AT §, qF § d qAea: A aear ¥
frewt wella @ gl el Rreaet @ oF ik R aw F Y B R aw Pt F @ @l @ aoer
AT T F AT T §U R AT FoA! F aifEE T @ AT FL@T §1

81/ Statements: All dolls are windows. |8l ¥y @ ABAT FsFET Fowal
N All bottles are windows. Sad R 1 owl @i
All cars are bottles. R

| sl &.
Conclusions: 1. All cars are windows. _ il
s | @el s f@stEar g
Il. Some cars are dolls.
lll. Some windows are cars. I. sm P aa|i3 T %I
lIl. Fes T@sihal SR g
(A)  Onlyl'and Il follow (A) e | 311 3T T 8
(B)  Only Il and Il follow (B)  araer Il 3 I 3101 & §
(€) Onlyland-lllfollow (C)  ger | 3R NI BTGI\ETTUT T &
(D) Al follow (D) @l ategeror Y '
j"/ﬁ
827 Statements: All snakes are trees. 82. gy gl @io 9T TS 98 ugh
Some trees are roads. All ¥ gl w=dh ugis §
_ ~ roads are mountains. ' i
Conclusions: |. Some mountains are forse: |. De Bl arT g!
snakes. e
Il. Some roads are i w9 &l
snakes. lll. F& w815 U3 &
lll. Some mountains are 5
trees.
(A)  Only I follow (A) ¥ | AT BT
(B)  Only Il follows (B)  daer Il &l 3807 Tl &
(C)  Only Il follows (C)  aeer Il &1 T HTAT g
(D) Both land Il follow (D) 1 3% 1l @it 3T W §
— = L RN S 10
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83

Statements: Some towels are brushes.
No brush is soap. All soaps
are rats.

Conclusions: |. Some rats are brushes.

Il. No rat is brush.

Ill. Some towels are soaps.
(A) None follows

(B)  Only either | or Il follows

(C)  Only Il follows |

(D)  Only I and lll follow

83.

FUA Fo v FIT B FA
T 6T g @l W T &
sy | F@ gy &9 €l
II. TS <@ 51T =TgT g
ll. & difav @ gl
(A) TS IFETEIOT gl T
(B) aer am @ | AT Il 31TEROT A

3
(C) mllmaﬁm% _
(D) Sharer | 3R 11 ITEROT FA &

Question no. 84 to 86 In each of the following questions, a number sequence is given in which
except one of the terms in the sequence are alike. You have to find out the number which is odd
in the sequence.

e TEAT. 84#86.mmaﬁw_ma§mﬁmw%ﬁaﬁa§wﬁwﬁm
wsll g wA %lmﬁﬁﬁwmm%sﬁﬁmﬁﬁw%l

84,/

85./

F.
~

8, 27, 64,125, 216

(A) 27

(B) 64

(C) 125
216

o

24,18, 222, 82,421

(A) 18
(B) 222
€ 82

(D) 421

>~

86/ 2,6,12,72,824

(A) 6
(B) 12
Cy 42
(D) 824

84.

85.

86.

8,27, 64,125,216

(A) 27
(B) 64
(€)= 125
(D) 216

24,18, 222, 82, 421

(A) 18

(B) | 222

() 82

(D) 421
2,6,12,72,824
(A) 6

(B) 12

{€) - 72

(D) 824

24
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87 Kim can do a work in 3 days while David 87. TrH s & & 3 Ral & & gar
can do the same work in 2 days. Both of ¥ afE 2fs =0 T e 2 REha

them finish the work together and get

Rs. 150. What is the share of Kim? X FhaT gl al AP wH I

Fa & 3 150 T0F uia &1 TR @

fewam frda 872
(A) Rs.40 (A) = 40
(B) Rs.60 ' (B) ¥ 60
(C) Rs.70 © % 70
(D) Rs.75 (D) % 75

85}.// In a certain code, ‘CONVENTIONAL® is 88. us W¥ua wig #, ‘CONVENTIONAL’

‘ENTHRONEMENT’ written in that code? ; :
rc S o B 0 R |

‘ENTHRONEMENT' &¥ for@r Sirdr

g7
(A) TNEROHEMNTNE (A)  TNEROHEMNTNE
(B) TNEORHMENTNE (8) TNEORHMENTNE
(C) NTEROHEMNNTE" (C)  NTEROHEMNNTE

(D) TNEROHEMNNTE : (D) TNEROHEMNNTE

'/“" .
89/ Select the missing number from the 89. feuw 7w SeEAl HOo# oed TEAT &l

NS given responses. T
(A) 64 - TN 64
(B) 121 i . (B) 121
(c) 81 @ 8
(D) 100 (D) 100
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99/

g

/

%/

94

1B}

(D)

ANO7CGLT2023

9T @ WA iy 3 GLd

In a row of trees, a tree is 7" from left

end and 14™ from the right end. How
many trees are there in the row?

(A) 18
(8) 19
(©) 20

21

i the time in clock is 12 : 23. What is the
time in the mirror?

(A). 12:33
(8) 11:37
() 12:37
() 1:23
Ravi and Privanka celebrated their

anniversary on Friday, 4 February 2005.
When would they celebrate their next

~ anniversary on the same day?

(A) 2009
(B) 2011
(C) 2015

2010

Ais the brother of B, Cis the father of D,
E is the mother of B. A and D are
brothers. How is E related to C?

(A)  Sister
(B) Sister-in-law
(C) Niece

Wife

Six members of a family namely A, B, C,
D, E and F are travelling together. ‘B’ is
the son of C but C is not the mother
of B. A and C are married couple. E is the
brother of C. D is the daughter of A. Fis
the brother of B. How many male
members are there in the family?

(A) 3
B) 2
() 4
D) 1

90.

91.

92.

93,

94.

Jet &7 U ufFd &, Uh 95 90 B8R ¥
78 3R @ B ¥ 148 TUH W B

GfFa & e 93 87

(A) 18

(B) 19

() 20

(D) 21

I S & @Aw 12 0 23 At qUur H
AT FAT 872 »
(A) 12:33

(B) 11:37

) . 12437

0y 1:23

® Rk BRiET 9 AR, 4 wEEd
2005 @ 3T ATEERE FAS| 9 3
Ry 3T 3FTE WIAIPRE &a HeATU?
(A) 2009 '

() 2011

(C) 2015

(D) 2010

ABH S C, DA Rarg E B
Aty AdRDISEIECH
T Y TEtd 87 |

(A) v

(B)  oqrefY

(€)  orelrsir

(D) g

wF TRER ¥ OF de¥d AU A, B,
C, D, E 3R F ws @Y 0T FHT ©
$| 'B' C o deT & afheT C, B BT AT
7 &1 A 3 C faarfea S8 81 E, C
w oS 3 D, AR I G F BE
aS %1 oRER 3 fraw oY §eE &7
(A 3

(B) 2 _

() 4 |
(b) 1 |

26
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“95. - In a town, 65% people watched the 95. T& e H, 65% dr celfded WY
news on television, 40% read a TR 3'@'3 %, 40% T AT UF

newspaper and 25% read a newspaper

Ted & 3N 25% o7 HARR 99 9ed

and watched the news on television

also. What percent of the people ¢ 3t Ehfess W o wATER dEd
neither watched the news on television ras ufderad @91 & ar cellidoled W
' ? 3
nor read a newspaperr gy ¥ AR A @ IEER ved
87

(A) 5 (A) 5

(B) 10 ~ : (B) 10

(€) 15 (C) 15

(D) 20 (D) 20

P
#

96_./" Sumitra has an average of 56% on her | 96. GfAAT & 3uel Tgell 7 odigm3it A7

" first 7 examinations. How much she st 56% ¥1 8 wliemait @ 3w
should make on her eighth examination ,

60% 37 UIcd F¥el & TaC 3H 379ar

to obtain an average of 60% on 8

examinations? 3radt e & Reaear dAET Tifge?
(A) 88% (A) 88% |

(B) 78% : (B) 78%

(€) 92% - (€) 92%

(D) 68% (D) 68%

97~ A rectangglar carpef has an area of 97. U TAATHIT HloleT HT &Pl 60.a97
d 60 sq. m. If its diagonal and longer side s
: _ _ #iex ¥ afg saer fawol i ofdr ager
together equal 5 times the shorter side, ] Frge 5 -
’ ATy TBIET 3Gl et CRICE
the length of the carpet is 2 ~°
g1, ar reler T oS &

() 8m _ | (A) 8

|) 12m BGCERPE
(C) 15m (C) 154
(D) 145m ", (D) 14.5 =
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98.

99/

100.

Rajesh walks 7 km to the north then
turns left and walks 3 km. Then takes
another left and continue walking this
time another 7 km forward. How much
distance in km is he away from the
starting point?

(A) 10 km

(B) 6km

(C) 3km
2 km

A group of 1200 persons consisting of
captains and soldiers is travelling in a
train. For every 15 soldiers there is one
captain. The number of captains in the
group is '

(A) 85
(B) 80
() 75
(D) 70

An enterprising businessman earns an
income of Re. 1 on the first day of his
business. On every subsequent day, he

- earns on income which is just double of

that made on the previous day. One the
10" day of business, his income is

(A) Rs.29

- (B) Rs.210
(C) Rs.10
(D) Rs.102

98.

99.

100.

o 7 el 3ear 1 AR Tedr §
i arfil 3R Hzar § 3R 3 Rl
Torar §1 T a1 3 7S 3R 37 )
7 R 3 gesr ST Wl 98
yRfee foig @ fhell & fhael gt W
g2

(A) 10 fop.#.
(B) 6 fen.a.
(C) 3 fer.AL
(D) 2 ..

Eaz B | O 1 o S B C
1200 cafeaat & U HAg U ool H
JET W@ ¢l TAE 15 WA )
UF Hveel gidT §l WHg H weael I

AT B
(A) 85
(B) 80
{C} 75
(D) 70

Th IegAN SIaErEll U ATy
¥ qgar & ww U Hr 3 3ford
AT § | UAF I oA, a8 T
HIT war & S R Roa & &
ool 7 2Nl gl sgaa & 109 oo
3T 3T B §

(A) 3. 29
(B) . 210
€ =% 10

%, 102

(D)

28
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9T 7T: HEATeHS ATl
PART—C: NUMERICAL APTITUDE

gl 362 of L orieeds: 101 1664 ¥ L Fa 2Fw 1
48 10 | 10 &
(A) 648 (A) 648
(B) 762 (B) 762
(C) 612 (C) 612
(D) 728 ‘ (D) 728

10 % part of a pencil is black and % part of | 102. % uF U @ UH HET FHelm § 3R

remaining is white. If the remaining part 1 ‘
| = i EQWWW%III%QWWFHW

-is blue and length of blue part.is 3%cm 4
: 1
¥ 3t A swer & S 35 aAr &,

then length of pencil is:

ar 9 fr des
(A)  6cm (A) 6 F=
(B) 7cm (B) 7 @AY
(C) 8cm | (©) 8 @
(D) 9em , (D) 9 [
&P}"‘ The value of 0.142857-+0.285714 is : 103. 0.142857-=0.285714 1 AT %3
R | @A) 1
2 2
B) 1 B 1
3 3
T (€ 2
(D) 10 (D) 10
4 29
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104.

i

105./

The pair of numbers which are relatively

prime to each other is:

(A)
(B)
(€)
(D)

(68,:85)
(65, 91)
(92, 85)
(102, 153)

. .6 : '
Moving 7 of its usual speed a train is

10 min late. Find its usual time to cover

the journey.
(A) 25 min
(B) 15 min
(C) 35 min
(D) 60 min

y.

10/6}/4 The HCF of (x* - x* - 2x) and (x* + x°) is:

107,

(A) X - X* - 2x
(B) x*+x
(€ x*x*-2x*
x—2

(D)

How many three-digit numbers are
there which increases by 396 when the
first and last digit of the number is

interchanged?
(A) 57
(B) 50
(C) 45

None of the above

(D)

104.

105.

106.

107.

- (Q)

(D)

(D)

ﬁwaﬁwaggma’rwa@%ﬁ
3TUETISR 3T &

(A) (68, 85)
(B) (65, 91)
(92, 85)

(D) (102, 153)

oret e A A S & v |
arell Th ¢ 10 feie &8 & =erdr g

gQET I H AT HAET GAT A

N

(A)
(B)
(€)

25 AT
15 fAec
35 feie
60 fAsTe

(33 = %% - 2x) 3ﬂT'(x3+x2) &I HCF ¢ :
(A)
(B)
()

%3 - %% - 2x
x2 + X
x*-x3-2x2

X—2

ugel 3T i 31 H IH H deole
W 396 Hr fg Bl 82

57
50
45

gl § Iy W e

(A)
(B)
(€)
(D)
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108.

1009.

110.

- (B)

A rectangular courtyard 3.78 meters
long and 5.25 meters wide is to be
paved exactly with square tiles, all of
the same size. What is the largest size of
the tile which could be used for the

purpose?

(A) 14 cms
(B) 21cms
(C) 42cms

None of these

(D)

When 0.36 - is written in
the
numerator and the denominator is?

simplest

fractional form, sum of the

34
45

114

135

(A)
(B)
(€)
(D)

Which is the closest approximation to
the product '
0.3333 x 0.25 x 0.499 x 0.125 x 247

(A)

(C)

(D)

o ojlw Blw 0k

108.

109.

110.

3.78 #Hex & 3R 5.25 HeX d@ls Tw
FEAHR 3o F Segpd @A
HHER H GlpR Tl A g o
ST &1 TS T J&d §8T 3R T
¥ @R 39T 39 389 & forw foRar
ST TehdT 57

(A) 14 @

(B) 21 &=

(C) 42 @0

(D) go7dl & g Tl

STe 0.36 & ToAdH HedAlcAd ®F H
for@r arar g, ar 3w IR & @ A
glar §7?

(A) 34

(B) 45

() 114

(D) 135

3cUrg 0.3333 x 0.25 x 0.499 x 0.125 x

24 T Adhcan Hiedhes Hiel AT 57
(A) 1
8
(B) 3
4
(C) 3
8
(D) 2
5
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111.

)

113.,

114,/

ey

A number when divided by a divisor
leaves the remainder 24. When twice
the original number is divided by same
divisor, the remainder is 11. The value
of divisor is

(A) 13
(B) 59
(C) = 36
(D) 37

The breadth of a rectangle is 25 m. The
total cost of putting grass bed on this
field was Rs. 12375 at the rate of Rs. 15
per sq m. the length of rectangle is

(A) 27 cm
(B) 30cm
(C) 33 cm
(D) 32cm

- A common factor of [(41)® + (43)*] and

[(42)" + (43)"] is:

(A)  (43-41)
(B)  [(41)* +(43)*
(C)  [(41)® +(43)®]
(D) (41+43)

If the areas of three adjacent faces of a
cuboidal box are 120 ¢cm? 72 cm? and
60 cm? respectively, then the volume of
box is : :

(A) 820cm®
(B) 720cm?
(C) 750cm®
(D) 850cm’

111.

112,

113.

114.

Ueh TEAT & Ao O [FAiad &

R AV 24 FEAT §| A AT AT

H QT 3 e & R wee
W AYE 11 Tl §1 HATSTH HT AT

-4

(A) 13
(B) 59
(C) 36
(D) 37

Th HIT Fr dlsg 25 e 1 osw
Helol TR o H A A AT Fer
et 15 39 U @efeler dr ax ¥
12375 9 T, AT AT &S 8

(A) 27 &=

(B) 30 @Y

(C) 33 @

(D) 32 @A

[(41)43 + (43)“3] and [(41)41 + (43)‘”]
T U WHAT UEAES B

(A) (43-41)

(B) [(41)™ +(43)*

(C)  [(42)® +(43)®

(D) (41+43)

Ife T oA B & diT e

Teldl  # S R 120 ¥ QR
72 @ 3R 60 A AP, Y SiFq
FI 3T g -_

(A) 820 &+°

(B) 720 @#°

(C) 750 @=®

(D) 850 T+
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115,/

116.

117

118. /

What is the unit digit in (3% x 67" x 7)?

(A) 6
(B) 4
) 2
(D) 1

The sum of 5 consecutive even numbers
A, B, C, D and E-.is 130. What is the
product of Aand E?

(A) 720
(B) 616
(C) 660
(D) 672

If a number is exactly divisible by 11 and
13, which of the following types the

number must be?

(A) Divisible by (11 + 13)
(B) Divisible by (13-11)

(C) Divisible by (11 x 13)
(D) Divisible by (13 + 11)

/'/l

The LCM of two numbers is 20 times of
their HCF and (LCM + HCF) = 2520. If one
number is 480, what will be the triple of

another number?

(A) 1200
(B) 1500
(C) 2100
(D) 1800

115.

116.

117.

118.

$IT9T 3T: WEATCHAS Fegdl
(3% x67x7") & sFHES 3w FAT § ?
(A) 6
(B) 4
(@- 2
131 |

5 shAEd A HEAB A, B, C, D
AR E @1 awr 130 81 A 3R E @
AUTAB AT §?

720

616

660
672

(A)
(B)
(C)
(D)

afg g d@ear 11 3R 13 & qof:

faesT §, ar ag aear Sefoad &

q g e &1 gl aifgu?

(A)  (11+13) & faorsw

(B) (13-11) & faosw

(@ (11x13) & =T
(

(D) (13+11) & Ry

&l HEAT3il &1 LCM 3e% HCF & 20
I & 3R (LCM + HCF ) = 2520 &I
afE T HEAr 480 §, d @Y HEAT
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119./ Given 168x32 = 5376, then 5.376+16.8 119. 168 x 32 = 5376 fear =™m g ar
is equal to 5.376 + 16.8 TTET ¥
(A) 0.032 (A) 0.032
(B) 0.32 (B) 0.32
€y - 34 {ef. 99
(D) 32 (D) 32
. 5 5 2 2
120,/ the value of (67:542) —(32:458) 120, (67:542] ~(32458) o
. 75 458 — 40.374 75.458 -40.374
(A) 1 (A) 1
(B) 10 B} .30
(C) 100 (C) 100
(D) None of these (D) o3t & wig 50
12:__[,;'. The population of a town increased 121, U Sk H TFH YT I SATTHEIT
frr'?m 1,75,000 to 2,62,500 _in a decade].c 1,75,000 ¥ "o 2,62,500 & Wél
e average percent increase o g -
population per year is ot Ay hi " eI aﬁg
&
(A)  4.37% (A) 437%
(B) 5% (B) 5%
(C) 6% (C) 6%
(D)  8.75% (D) 8.75%
122. / 860% of 50 + 50% of 860 = ? 122. 50 @ 860% + 860 & 50% = ?
" (A) 430 (A) 430 |
(B) 516 (B) 516
(C) 860 (C) 860
(D) 960 (D) 960
123_.‘”;':‘ Rs. 1210 were divided among A, B, C so 123. % 1210 &I A, B, C & &9 50 Y&R
" that A:B=5:4 and B:C = 9:10 then C gets e frar 7ar B AB = 54 30
B:C = 9:10 & C I &iar &
(A) " Rs.340 (A) % 340 ‘
(B) Rs.400 (B) . 400
(C) Rs.450 (C) . 450
(D) Rs.475 (D) . 475
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124 If x and y are integers and x + y is even, 124. ofg x 3Ry t!'\U'ﬁT:F AR x +y A

which of the following must be even? . S A BeRRT § g o o
(A) x (A)  x

(8) vy A (8) vy

(C)  xy : (C) xy

(D) x(y+1) . (D) x(y+1)

125.  The sum of place value and face value of 125. 43836 & TUET AT 3 3ifha &=

8 in 43836 i.e. * o et Br
(A) 88 ' _ (A) 88

(B) 808 (B) 808

(C) 880 : (C) 880

(D) 888 (D) 888

126. _The sum of natural numbers which are 126. 3 WTehd a3t &1 IeT A7 100 &
~ divisors of 100 is ‘

ST §,
(A) 116 (A) 116
(B) 117 ‘ (B) 117
(cy . 21 . . € 7

(D) 217 (D) 217

/ 1 : ‘ ;. . :
127 When = of a number is subtracted from 127. &9 % T I=ar # ¥ Us @& "

the number itself, it gives the same & S g, A 98 Bue & gl s
value as the sum of all angles of a ¥ W ¥ GAR AW g e R
triangle. The number is )

&I &
(A) 224 . (A) 224
(B) 210 ' (B) 210
(C) 140 (C) 140

(D) 120 (D) 120
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128

129/

130.

131

/(D)

The diameter of a roller is 84 cm and its
length is 120 cm. it takes 500
revolutions to move once to level a
playground, then the area of playground
is

(A) 1632 m’
(B) 1584 m*
(€) 1817 m*
(D) 1532 m?

A sum of Rs. 1521 is lent out in two
parts in such a way that the interest on
one part at 10% for 5 years is equal to
that of another part at 8% for 10 years.
What will be the two parts of sum?

(A) Rs.926 and Rs. 595
(B) Rs.906 and Rs. 615
(C) Rs.916 and Rs. 605
(P) Rs.936 and Rs. 585

A person bought 8 quintals of rice for
certain rupees. After a week, he sold
3 quintals of rice at 10% profit, 3 quintal
of rice with neither profit nor loss and
2 quintals at 5% loss. In this transaction,
what is the profit?

(A)  1.5%
(B) 2%
() 2.5%
None of these

A merchant had 50 kg of pulse. He sells
one part at a profit of 10% and other at
5% ‘loss. Overall, he had a gain of 7%.
Find the quantity of pulses, which he

~sold at 10% profit and 5% loss.

(A) 40kg, 10 kg
(B) 40kg, 15kg
(C) 40kg, 12 kg
(D) 40kg, 9kg

128.

129:

130.

131.

T Yol T A1 84 TAY § 31T g@ahr
dEs 120 A 1 v @A F Hewr @
HAAST &l & U T aR gaed H
500 TFHL @I g, ar WA & Hae
FT ATH & '

(A) 1632 #Hrer?

(B) 1584 Hed?

(C) 1817 e

(D) 1532 Hrew?

1521 9 Hr AR &1 & 97 F 39
YRR 3UR f&ar Srar & fF v oer W
5 ast & AU 10% & AT gEY 1T
X 10 auf & v 8% & = &
RIS @1 T & aT #7197 i T g7
(A) %. 926 3R %. 595
(B) . 906 3R ¥. 615
(C) . 916 3iX &. 605
(D) . 936 31T . 585

T AfFd o FT IUA H 8 fFdee
gl WIGT UH HACdg & a6, 3T
3 fdear T@a 10% oM W, 3
fFacer =raer & a o 3R & & gl
W 3T 2 Fgee 9@d 5% B W
dT| S0 oAA-Gel H, oIS FAT g2

(A) 1.5% :

(B) 2%

(C) 2.5%

O) Tt & B w8

Uk SOONT & 9@ 50 fohal grer &
TE UF AT B 10% o W AR g@
HT 5% I W e gl Fer fAerR
3?37%$rma§mlam"r$rm
Fa fifaT, 5 33 10% @rer 3k
5% gIfel 9 ST

(A) 40 fmelr, 10 fepell

(B) 40 ferelr, 15 fopel

(C) 40 frel, 12 el

(D) 40 foram, 9 foram
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132. " The Unit's digit of the given 132. U 0 =qF 78°°%2 x 56°°° x 97120 &fiy
. 5562 256 1250. . )
expression78™""" x 567" x 97" is: sih‘l'é FT 3F T
(A) 6 (A) 6
(B) 5 (B) 5
() 4 (C) 4
D) -3 (D) 3
133..7 Each face of a cube can be painted in 133. 9 & UYAF Bdd F Flol AT TheE
black or white colour. In how many @ W G ST T ¥ o @ Rede
different ways can the cube be painted? =
' et PR T W ST bl g7
(A} .9 (A) 9
() 10 (B) 10
(€)= 1Y 6 il
(D) 12 (D) 12
13@ What will be the remainder if 468 is 134. IfT 468 &1 192 O Fwfaa ar aw
(A) 16 (A) 16
(B) 49 (B) 49
(C) 64 (C) 64
(D) 21 (D) 21
135. / Let N = 3029282726..4321 be a larger | 135. HET N = 3029282726.4321 TH CE|
number. What will be _the remainder T ¥ N # 9 ¥ fanfea ﬁa‘CIT_
when N is divided by 9?
ST A AYH FIT BIOM?
(A) 5 (A) 5
(B) 6 (B) 6
c 7 {C) =7
(D) 8 (D) 8
o 37
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137./

e

136.

If five times the fifth term of an AP is
equal to seven times, the seventh term
of the AP, then what is the twelfth

- term?
(A) -1
(B) O
(E)* 1
(D) -2

If m is a positive integer and m® is
divisible by 48, then what is the
minimum possible value of m?

(A) 6
(B) 9
(€ 12
(D) 24

Three candidates contested an election
and received 1136, 7636 and 11628
votes respectively. What percehtage of
the total votes did the winning
ca_ndidate get? '

(A) 57%
(B) 77%
(C) 80%

90%

(o)

4

."'f’ .
139/./] The sum of four terms in an AP is 64.

136.

|- 137

138.

138.

IfE fardl AP & 9iEd Ug 1 9T I,
AP & TAd 9§ & AT AT & SRIET
$ o aNgdl g 4T g7

(A)- -1
(8) 0
(€ 1
(D) -2

IfE m T GRS Ui g 3 m’,
48 ¥ fasmew ¥, A m @ g
THT AT FAT 57

(A) 6

(B) 9

(€) 12

(D) 24

diet 3Fdigart & uw gAE wsr AR
3= ®A: 1136, 7636 3 11628
aﬁtmg&rlﬁaﬁrmﬂmﬁ@
Al & o gfard ured g3m?

(A) 57%
(B) 77%
(C) 80%
(D) 90%

ww AP F TR 9l &1 ANT 64 §l

The product of the extreme terms is 3 @ IO 220 ¥| gl
220. Find the first and fourth term.
3 =lar ug Fa ifaTl

(A) 14,28 (A) 14,28
(8) 10,22 - (B) 10,22
(C) 28,14 (C) 28,14
(D) 6,30 (D) 6,30

38 <
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140.

141.

- 14 |

1437

Af a number is multiplied by three -

fourth of itself, the value thus obtained
is 10800, the number is:

(A) 210
(8) 180
(C) 120
(D) 160

Twice the difference between two
numbers is equal to their sum. If larger
number is 15, then another number is:

(A) 12
(B) 10
() 5

(D) 9

If the area of a regular pentagon is

12543 sq cm, then length of each side

is:

(A)
(B)
(C)
(D)

15cm
16 cm
10cm
25cm

Three cubes of sides 1cm, 6 ¢m, 8 cm
are melted to form a new cube. Half of
surface area of new cube is:

(A) 243 cm’
(B) 463 cm’
(C) 486cm”
(D) 493 cm®

140. I frdy & @ 3O AU §@

141.

142.

143.

aron feRar ST, & gred A 10800 g
& &

(A) 210

(B) 180

(C) 120

(D) 160

& T3t & fra & AT HARET
3% T & SR g1 afe 99r gedr
15 §, o gl @1 ¢

(A) 12

(8) 10

() 5

(D)9

afy ve AT duser T e

1253 @ Q& &, a uAF Hqom A
TS &

(A) 15 @l
(B) 16 ¥
(C) 10 J=r
(D) 25 [

1 3af, 6 Wl 8 JAT egom3il arel e
AT FT NOaey T 37 9 S0
ST &1 & O &7 3T g &FA%el

5

(A) 243 T
(B) 463 T
(C) 486 @
(D) 493 @Y
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144,

145f

146./

.

Two vessels are filled with diluted
sulphuric acid, not up to the brim.
Vessel A has sulphuric acid and water in
the ratio 4 : 1 and Vessel B has water
and -sulphuric acid in the ratio 3 : 2. If
twice of the volume of the sulphuric
acid solution in Vessel A is thrice of that
of vessel B, then what will be the
concentration pefcentage of sulphuric
acid in the new vessel C, where both the

vessels’ solution are mixed up?

(A)  65%
(B) 72%
(C) 78%
(D) Cannot be determined

{(476+424)* —4x476% 424} =7

2906
3116
2704
2904

(A)
(B)
(€
(D)

If 60% of —2- of a number is 36, then the

number is:
(A) 80
(B) 100
(C) 75
(D) .90

144, &) e T AewRer TS § aX g

145.

146.

£ W FR dF & saa A #
TerRe TS 3R U=l T 3Hedrd
41 § 3R sda B #H uew 3k
AeFRH TRAS &1 3eurd 3:2 §1 A
dde A H HewgReE TR °ier 1 A
H AL ddd B & AT @ e
AT 8, ?ﬁ AT q4T C H HOwRIRE
TS &1 FIguT giaerd aqﬁ grem, STt
eIl ST T BT TRemar a3y §7

. 65%

72%

78%

o A& BT ST AT

(A)
(B)
(C)
(D)

{(476+424) —4x476x 424} =2

2906
3116
2704
2904

(A)
(B)
(C)
(D)

mmm$%m60% 36 &,

ar 9g 9T &
(A)
(B)
(C)
(D)

80
100
75
90
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147./ A  five-digit natural number s 147. U 3HT fr TH WL gear 3
Nt A A a s

:snstlfle;ed ?rl: is dwnc}ied b\x{:\hi sum l;)f T TEA F IH % AT A

e digits of the number, at can be i
the highest possible ratio? YIS AT ST &1 3edas Hefad
3TTUTCT AT &1 Hehell §7?

(&) 29223 (A) 22222

(B) 9090.9 (B) 9090.9

(C) 9999 (C) 9999

(D). 10000 (D) 10000

148 If an eight-digit number 537867AB is 148. 537867AB U& 31 3ihl il d&AT §

- divisible by 6 or 7 or 9, then what is the St 6 W T ar 9T R tar
alue of ordered pair (A, B)? :
e RN AT JIA (A, B) T A &7 g2
(A) (3,6) (A) (3,6) '
(B) (9,6) (B) (S,6)
(€ (7:2) (€ {7,2)
(D) (5,4) (D) (5 4)
149. A merchant mixe; water in purest form 149. ©e =IOl B & AGAH T a2 qﬁ#’r
Ef vinIngrlind se]!i:hit at .ttle c'os’fc iricc;.llg AT aeTT T W Juar ¥ afy
e sells 2 litres of the mixture at Rs. ‘ ;
and gains 22.22%, find the quantity of aE 2 eheT TseT 110 T A doa ©
water in it before selling? 3R 22.22% T H WIcT AT g, o
| T ¥ ugd SEH RN v AEr AT
ey
(A) 36379 ml (A) 36379 AT
(B) 363711 ml (B) 363711 e
(C) 364611 ml (C) 364611 A&
(D) 33679 ml (D) 33679 At
Pl
.//
;LSO. "~ The average of five consecutive positive 150. 9iT FHANET SATcHS q;m‘;ﬁ &7 3ga
‘ integers is M. If each term is decreased M ¥ af ueF 9o 3 2 & mer R
by 2 and five consecutive integers of the it ; L.
old series are included, then the new Gﬂ'tf ' AT el I AT
average is quitehl @I enfier & &= e, ar s
3T & '
(A) Increased by 1.5 (A) 15 &r ac‘@' g-‘é;
(B)  Increased by 0.75 (B) 0.75 #r afg &5
L 3
(C) Decreased by 1.5 - (C) 1.5 & FAT &S
(D) Average remained the same (D) 3t agr W@
< 41
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PART-D: General English

Choose the correctly spelt word.

151. (A)
" @)
(C)

(D)

(A)
(B)
(©)
(D)

15%

153. 4A)
(8)
(c)
(D)

155,(A)

(B)
(C)
- (D)

Referigerator
Refridgerator
Refrigerato r

Refriderater

Parliamentery
Parlimentary
Parliamentary

Parlamentary

Recedeing
Reeceding
Receeding

Receding

Beligrent
Belligerent
Belligrent

Beligerent

Beguele
Beiguile
Baguile

Beguile

159.

Find the misspelt word.

156, /(A)
(B)
(C)

(D)

157.
~ (B)
(€

(D)

158. (A)
(B)
(C)

(D)

AA)
(B)
(C)

(D)

L

Advocacy
Aristocracy
Democracy

Courtecy

Surveillence
Stupefaction
Preferential

Detrimental

Recommend
Alluminium
Cemetery

Satellite

Radiant
Salient
Valiant

Brillient
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_Read the following passages carefully and
answer the questions given below.

Aristotle considered human nature, habit and
reason to be equally important forces to be
cultivated in education, the ultimate aim of
which should be to produce good and virtuous
citizens. He proposed that teachers lead their
students systematically, and that repetition be
used as a key tool to develop good habits,
unlike Socrates' emphasis on questioning his
listeners to bring out their own ideas. He
emphasized the balancing of the theoretical
and practicai aspects of subjects taught, among
which he explicitly mentions reading, writing,

mathematics, music, physical education,

literature, history, and a wide range of

sciences, as well as play, which he also
considered important.

During the Medieval period, the idea of

Perennialism was first formulated by
St. Thomas Aquinas in his work "De Magistro".
Perennialism holds that one should teach those
things deemed to be of everlasting importance
to all people everywhere, namely principles
and reasoning, not just facts, which are apt to
change over time, and that one should teach
first about people, not machines or techniques.
It was originally religious in nature, and it was
only much later that a theory of secular
perennialism developed.

During the Renaissance, the French skeptic
Michel de Montaigne (1533 - 1592) was one of
the first to critically look at education.
Unusually for his time, Montaigne was willing
to question the edifice wisdom of the period,
calling into question the whole edifice of the
system, and the implicit

that university-educated
were necessarily  wiser than

educational
assumption
philosophers
uneducated farm workers, for example.

L

\

160. What according to Aristotle was the

ultimate aim of education?

(A) Cultivate habit of human nature
(B) Systematically teachers to lead
students to good habits

(C) To produce righteous citizens

(D) To bring out students own ideas
161’ '-I"ﬁhe word ‘Renaissance’ is derived from

the language. .

(A) English

(B) Italian

(C) Latin

(D) Frencﬁ

162. Skeptic iSaperson
(A)  Who is rational in thoughts
() Who denies the possibility of

knowledge
Who believes in rational thinking

(€)

(D) Who accepts knowledge of all types

w2
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163/ Perennialism was first developed by

164.

(A) Aristotle
(B) Plato
(C) ! Thomas Aquinas

(D) Michel de Montaigne

Explicitly is antonym of-

(A) Overtly
(B) Implicitly
(C) Utterly
(D) Impishly

Read the cloze passage below and choose the

best answer:

Jeans have become one of the most worn -

pieces of clothing in the world. Everybody
R 1 them, from the rural
farmer to the urban lawyer and from
models to housewives.” But why have

jeans become so — ) aveu get

many answers. For some people they

look cool, for it L jeans are

simply comfortable. Jeans were first
designed —4)— durable trousers
for farm workers and miners in the states
of the American west. A Nevada tailor,
Jacob Davis, had the idea of using copper
bolts at the corner of the pockets to
make them stronger. They became

(5)

popular and soon many

165,/ Choose the best answer for (1).

n
®)
©
o)

F 4

4

(A)
(B)
(C)
(D)

wears
are wearing
was wearing

will wear

166,/ Choose the best answer for (2).

popular
outdated
expensive

infamous

167. ‘_Cﬁoose the best answer for (3).

(A)

(B)
(€)
(D)

another
the others
others

the other

168. Choose the best answer for (4).

/A
(B)
(C)
(D)

for
as
with
by

169. Choose the best answer for (5).

G
(B)
(©)
(D)

vaguely
instantly
slowly

comfortably

people bought them.
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Find one word substitution: 174. .One who cannot be easily pleased-

(A) Cosmopolitan

170¢" A hater of knowledge and learning: (B)  Frightening

(A) Bibliophile (C) Fastidious
(B)  Philologist : - (D) Feminist

(C) Misogynist

(D) Misologist

Fil in the blanks with appropriate

prepositions:

171, Commencement of words with the same

letter
(A)  Pun
(B) Alliteration . - ' 175./'the succeeded” —— dint of

. /_’ . i
(€} Transtérred epithet /" perseverance and hard work.

(A) witﬁ

(D)  Oxymoron i
(B) by
(C) to
172. Assad song:
(A) Ditty D for
| (B) Knell
(C) Dirge
(D) Lay 176+ Birds were seen moving —————— one

place to another place

change of seasons.
173. A'person who loves everybody:
(A) to, with
=~ (A) Cosmopolitan
(B) from, with
(B) Fratricide
(C) from, for
(C)  Altruistic
(D) with, for

(D)  Aristocrat
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177/ He "hinted some loss of 180. Who is creating this mess?
”“-‘asF”e- (A)  Who has been created this mess?
(A)  at () By whom has this mess been
(B) for created?
(C) on (C) By whom this mess is being
2
(D) with created?
(D) By whom is this mess being
created?

178/'She has not read anything

/" Monday.
(A) from
(B) for
(C) on
(D) since

In the following questions, a sentence has

been given in Active/Passive Voice. Out of the

four alternatives suggested, select the one

which best expresses the same sentence in

Passive/Active Voice. '

179./1 remember my sister taking me to the

museum.

(A)

(B)

(C)

! remember | was taken to the
museum by my sister.

| remember being taken to the
museum by my sister.

| remember myself being taken to
the museum by my sister.

| remember taken to the museum
by my sister.

181

182,

The boy laughed at the beggar.

@

(B)

(C)

(D)

The beggar was laughed by the boy.

The beggar was laughed at by the

boy.

The beggar was being laughed by
the boy.

The beggar was being laughed at by
the boy.

They drew a circle in the morning.

(A)

(B)

(€)

(D)

A circle has been drawing since

morning.

In the morning a circle have been

drawn by them.

A circle was being drawn by them in

the morning.

A circle was drawn by them in the

morning
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Find the correct synonyms for the given

words.

183 SUMPTUOUS
| (A) Delirious
(B) Gorgeous

“(C) Perilous

(D) Luxurious

184_.. INSCRUTABLE
- (A) Difficult
(B) Mysterious
(C) Inflexible

(D) Wary

185./LOQUACIOUS,
(A) Talkative
(B) Thirsty -
(C) Beautiful

(D) Complicated

1\786./ 'TEf\r/‘I-ERITY
(A) audacity
(B) fearfulness
(C) shyness

(D) stupidity

Find the correct antonyms for the given

waords.

- 187, LUMINOUS

(A) clear
(B) dim
(C)  brittle

(D) clever

/’

188, /AWE

(A) borrow
(B) shallow
(C) low

(D) contempt

189. ROTUND
¢ (A) round
(B) unimportant
(C) thin |

(D) dull

190. .MALODOROUS
(A) acrid
(B) pungent
(C) fragrant

(D) delicious

a7




Part-D: General English

ANO7CGLT2023

19T ¥ AT TS

Fill in the blanks with the correct modals.

191 You pay for the damage
/ done!

(A) could

(B) would

(C) dare

(D) should
192, \;Ve e to do a lot of work

before the event Sta rts.

(A) ~ would
(B) need
(C) having
(D) -are
1937 | go and check the

arrangements downstairs.

(A)  should
(B) would
(©  might
(D) can

In the following questions, the underlined
part of the sentence may need improvement.
Below are given alternatives which may
improve the bold part. Choose the correct

alternative.

NOTE: In case no improvement is needed, your

answer is No Improvement.

194. ‘With no rain and’ any access to clean

P

water many farmers will lose their crops.
(A) Thereis no rain and no

(B) Withqut rain and nor

(C) Without any rain or

(D) Noimprovement

. When she regained consciousness she

was ‘stretched in the ditchout’, soaked to

the skin.

(A) outin the ditch stretched
(B) on‘the ditch outstretched
(C) outstretched in the ditch

(D) noimprovement
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Rewrite the following sentences in indirect

speech:

196,

197.

“1 said to my classmate, "Please lend me

your cycle."

(A) 1 ordered my classmate to lend me

his cycle.

(B) I advised my classmate to lend me

his cycle.

(C) I requested my classmate to lend

me his cycle.

(D) | forbade my classmate to lend me

his cycle.

Daman says, ‘Priya is working in

Ahmedabad.’

(A) . Daman say that Priya was working

in Ahmedabad.

(B) Daman said that Priya was working

in Ahmedabad.

(C) Daman said that Priya works in

Ahmedabad.

(D) Daman says that Priya is working in

Ahmedabad.

198.

190.

200,

\\{-;y”y

The teacher said, "What is the matter?"

(A) The teacher asked what the matter

is.

(B) The teacher asked what the matter
had been.

(C) The teacher asked what was the

matter.

(D) The teacher asked what the matter

was.

I said to my friend, "Can you swim"?

(A) 1 asked my friend whether he could

swim.

(B) I asked my friend whether he can

be swim.

(C) lasked to my friend whether he can
swim.

(D) I asked my friend whether could he

be swim.

.She said, "l am coming just now."

(A) She said that | was coming just
then.

(B) She told that she has been coming
just then.

(C) She said that she is coming just

now.

(D) She said that she was coming just
then.
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Key

Question

No.

176

177

178

179

180

181

182

183

184

185

186

187

188
189

190
191

192
193

194
195

196
197

198
199
200

Key

Question

No.

151

152

153

154

155

156

157

158

159

160

161

162

163
164

165

166

167
168

169
170

171

172

173
174

175

Key

Deleted

Question

No.

126

127

128

129

130

131

132

133

134

135

136

137

138
139

140
141

142

143

144

145

146

147

148

149

150

Key

Question

No.

101

102

103

104

105

106

107

108

109

110

111

112

113
114

115
116

117
118

119
120

121

122

123
124

125




